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Instructions (Read it carefully.

feredradt (st TTEE T

1. Fill up your Examination Registration number (08 digits, i.e. 223xxxxx) and personal details in

allotted space on OMR Sheet. Please follow the correct method for darkening the circle of your
choice as mentioned in OMR sheet. Your answer to be marked on OMR: sheet by
“filling/darkening the circle” with BLACK INK Ball Point Pen only.

(ST TSI (FRICET 7T (08 ST, (AT 223xxxxx) 93¢ OMR TG FAF© A HETS
e R RN O T Mo I FATH SF5 oz I OMR A Sffe Mo
THS TR FRT| (STTH TTF BT FIET FIFMT T4 A (74 o7 "J5 ©fS" I OMR
MG fofFre Fae 7@

. No extra OMR Sheet shall be provided to you in any circumstances. If the OMR Sheet is found

defective, please inform the invigilator at the beginning of the examination.

(@ I3 (OWF (T IS[FE OMR MG o7 Fa7 7@ a1l 3% OMR 6 FoIf (77 7T,
THE TAFT BF(©2 AATHFE T3 |

You have to answer all 50 questions. Each question carries 2 marks. There is negative marking of
1 mark for each wrong answer. Unattempted questions will be evaluated as ‘0’ mark. All the
questions will be both in English and Bengali languages & there will be four answer options
(from A to D) for each question. You have to choose only one correct answer. Few blank sheets
are included at the end of this booklet for rough work.

(o 506 FeTe STAafa Sod fite 7@ afeft serm M 2 a3k afefb T SoEs Iay 1 795
FT IE| F=ffe I ST (F@E T8 797 '0' I 5w Fa1 7@ T8 I REF 9
R TS SN T 432 66 0T I TG Te@ES [FF AFE (A (¥F D Q) | (ST

236 1a 5f3% Tex (A= fte @ TTH FIEE T 92 - (T FESH HIFT T W8T
peicy

You are not allowed to keep mobile phone or any other electronic gadgets including calculator

with you but geometry box is allowed.

(ST ST FAFEOH, (MIRT (BT T I (FIEA] TSRS TS TNE APIS (12 O
SRS F37 ST |

. Adoption of any unfair means will cancel the applicants’ candidature. No request in this issue will

be entertained.

(T 3178, TATT JFT5 FACT A (HST AMST FH1 T | 9 AW (FATTT ey sy Fam
2@ )

. Before leaving the examination hall, you have to submit the OMR sheet to the invigilator. You

may take the question booklet after the examination.

BT 271 ST FATA AN, (SR AR = OMR G 31 five 71 1w oz et
TEA YRS ¥ A (Te |

Please rcad all the instructions provided in the OMR Sheet.

Ie[Tz F@ OMR T (wa 3 51 et 1|
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Each question has four options (A, B, C and D) for answer. Please choose the correct option

. and fill the appropriate circle with black ink ball point pen in the OMR sheet.
- afsft arsx Tawa s1afb frEw (A, B, € 37 D) ATAR| TGS FF 7R FrEEl arm
- w13 a7 OMR B #F10T F1fHE 77 4SS o= o SegE 73T AT FF

Questions

1. Taking units of time (T), pressure (P) and acceleration (X) 2s fundamentzl
force may be expressed as -

Y
|
L
\
)

NFF 93% M /I (T), 517 (P) 932 734 (X) 39 377 77, T7Z 1353 2572 28~
FF(I(@ M= -

ATPX v BPX'T' CPXT DPX T

2. A man is approaching a plane mirror with velocity 2 m's. The distance between the man and
his image will decrease at the rate of —

2T TS 2 m/s TERE FHed FFARE @ Tl I @ TF 5 938 " S F 795 (%

TEFTESFH - -~ e
’ v rl// - v
AOms '/ ' B.2m/'s C.4ms D.8m's

3. Heat is being extracted out at a constant rate from some amount of liguid at 20°C temperanurs.
Out of the following options which graph is most likely to represent the simation comrectly?

80°C STIH1aTX (Temperature) 3% TE919 57 (V@ &8 7E 79 (37 3E F2 T I=| =7
53 35T 3fFE T (3T (FXfRal 92 TR REE F3seR T FEE TR
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4. A piegs of cork having density 0.5 gem™ is tied with a piece of an alloy metal of density
8 gcm™. The combination floats in water completely submerged. The ratio of masses of cork
and metal in this combination is —

0.5 gem™ FoY IR I 95f6 RFENS 8 gom ™ g AFfE TFT MR TEVST S AT
T NI TS S Y fwifde T07m o7 92 e T/ASHE FF I92 49T

SEF TS T —
v ’ ><
A. 15:8 B.7:1 8 D. 6:11
S. Which of the following situation is impossible in reality?

fotes @1 3T aramE aveay

A. A body having velocity and acceleration in opposite directions.
(T (T 9T FHF Aoy fT7de)

B. A body having zero velocity and non-zero acceleration ')Q
(FT (T T & T o 717) ~

C. A body having constant acceleration and variable velocity
(ITT 799 99 & ([T AfqIGaN)

D A body having constant velocity and variable acceleration
(I (I &3S & T3 ATTISTNT)

6. An engine is approaching a hill with a constant velocity. When it is at a distance of 0.9 km
from the hill it blows a momentarily whistle, whose echo is heard by the driver after 5 s. If the
velocity of sound in air is 330 ms™, then the velocity of the engine is —

23f6 T SsIfSte 9 TmRned e afnd sEe| I3 aff RIS (4@ 0.9 km IF, ©F
aft 936 SR Ff9F RET I, I AR/ 5 (ETT TE SROEF B9© | I TS
SIfS@ST 330 ms™ 20, RfH@EF SfS@T =@ —

A.27.5 ms” B. 30 ms’' C.32 ms’ D. 40 ms™

7. A ray of red light is incident normally on one of the refracting surfaces of an equilateral prism
made of glass. If the critical angle between the glass and air is 45° then, during coming out
from the prism the overall deviation of the light ray is —

AFfG AT T AEF AT FIEF tofd TR fHOeE 936 ISfeTEF o T9en arifes
23| If% $I6 92 I AT TF06 (P19 45° TF, ©F 56 (¥ sl w7y aAersarag

M fagife = -
AP 45° B. 90° C. 60° D. 180°

8. Atmospheric pressure decreases as the height from the ground level increases. This is
because, as the altitude increases —

GO (@ THOT 5 ST ST IHSTIT ST Z0T M| 97 FIT, THOT et Ty sty -

A. sunlight affects the atmosphere more

o 7t AagweTeE @f Te1¥e @)
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1.

o .
o

B. air flows relatively gently

(I ICTHTFS o1 J9126 377 )
C.»  the number of gas molecules per unit volume decreases -~

(AFP SATTSTA ST ST S2TT ZTH 77) \—/
D. air becomes dry «

(Y BE I IN)

A stone thrown vertically upwards with velocity ‘u’ attains maximum height ‘h’. Another
stone thrown vertically upwards from the same point with the velocity ‘2u’ attains maximum
height ‘H’. What is the relation between ‘h’ and ‘H’ ?

SEFSIT SR A * v ST fifipy A5G sme s © b $we7 716 3@ 273 By
(WF THFOE THER 1w 2 v’ sifSasT fafipg amEsfs sma % H' $se! s 9@ |

‘h’ aF% © H’ 9T &Y No57 foyofy eay | /

BN

o=y B.3h=H C.4h=H . D.5h=H

Two small masses each of mass M are kept separated by a distance D inside a box. Masses
have charges equal to +q and -q respectively. The force of gravitation between them is F; and
force of electrostatics attraction is Fy . Now water is poured inside the box without disturbing

the charges and the positions of the masses. It is found —

7t F4 ©F (AOIFod ©F M) 936 IMEF MY FFEF (¥ D /@ T AR SF 7608
TYTFW +q 93 -q AT TR | OH T[S MT{F TSI ASHT T Fp a3

HRefEOIT NFHT I Fp | 93TF AT NET ANASIE ST GIFT 2T IO ©F (o7 A T
T AEIF G7F IHINO© AT | ST (7T (517 —

A. Fy remains unaltered but Fj; increases.

(Fp STIfaf$® 3w 5@ F; I =)

B. Fg remains unaltered but F; decreases.
(Fp IIfHAfO® YTFW & F; I ) /
C. Both F and F; remain unaltered.

(Fz 8 F, So@2 a7fAafe® A&)

D! F; remains unaltered but Fg changes. 7

(F, rifaafee A e FpafRafde =)

When a Uranium atom with mass number 235 is hit with a fast-moving neutron particle, then
two comparatively lighter atoms of mass number P & Q respective}y aloqg with 3 ff’St moving
neutrons are produced, Which is the correct mathematical relation involving P & Q?

Ty 235 BF Ay AR a%f6 RS@IAN TRNLF amﬂwsﬁ"‘*ﬁm ﬁ@ﬁﬂamsmﬁm
FAT T, BUF AW P 473 Q SAMATA 6 ACTHIFS AT ST 3T ST T o1
FrSH F7 T3 78 2| P 9 Q A7 WTR WAF nfafse (G 2

A.P+Q=235 BP+Q-'=234}‘ 'CQ./P*‘-}Q=233 D.P+Q=232
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12. Pure water is not a conductor of electricity. However, if a suitable substance is dissolved in

pure water, the solution turmns conducting. In this case, which among the following would be a
suitable substance?

fasw 57 Sfiwa 9 771 o@ f s S @ SE T Gge FAT W SR
56 AR 271 atkts fAwa refE s (@@ S @ /

A. Ethanol l‘! l“leOt \/ C. C(\HnOﬁ D. C’IZHHO“

13. Which of the following non-metals can be used as an electrode during electrolysis of a molten
salt?

fowa @ agfe siftre watm sy %wwmﬁftﬁsﬁﬁcmmwm/
Re B.S c.p D.B

14. Which of the following compound cannot be transformed into liquid state under standard
pressure?

AT @9 @O T 5T O fH® Fa7 I AR

v

0
A. NaCl B. NH,4Cl C. CaCl, D. FeCl,

15. Which of the following will be the most suitable metal coating used to prevent rusting of an
Iron body?

@z fAf3e @1 I87 JEE1 @ FIE O [THS (@1 4TgF TET TS SHABN?
A. Zinc {f&®) \/ B. Silver ((Fere1d) C. Copper (T19)  D. Lead ((F%)

16. In which of the following reaction neither oxidation nor reduction has taken place?

fasa @ ARt Rt sme o e (@t =3 o \/

A. C + 4HNO; = CO; + 2H,0 + 4 NO,
BG NaOH + HCl = NaCl + H,0
C. 2KMnO, + 10FeSO4 + 8H,S0, = K,S0,4 + 2MnSO, + 5 Fe,(S04); + 8H,0
D. 2Al + 2NaOH + 2H,0 = 2NaAlO; + 3H,

|7, Which is true about the following decomposition reaction of Hydrogen Peroxide? &
ST ARG femfafis e A s @mis e AL

—

2“:()2 = 2“3() r ()_»

A Hydrogen Peroxide is the Oxidant (TRTITOH IR T NS sy )< \<
B Hydrogen Peroxide is the Reductant (ZIECITOHA ARG T ASTAS T

( Hydrogen Peroxide is the Oxidant & Reductant both (TRISTE NEARG T AFEINTY
srae a fasae sa) @

1. This is not a Redox reaction (918 9@ft simas s A a)

sciencemaster.in



18. If the atoms are willing to obtain Septet (7 electrons in the outermost shell) instead of octet
(keeping two electrons in first shell), then what will be the formula of the compound formed
by reaction of Sodium (Atomic No. 11) and Oxygen (Atomic No. 8)?

T T, AE AT A B0 (FAHE ARG 0 7 ATPE) (T 3553 7T, (T4 I
76 P (FW) O CNISIH (AN F37% 11) 932 A (TANGEF F97% 8)
RERER ECICERCR I RCH __

A? NaO, \/ B. Na,O C. NaO D. Na,0,

19. Equal mass of two miscible liquids with density 5 g/mL and 15 g/mL are mixed. What will be
the density of the mixture (consider no change in Volume due to mixing)?

5 g/mL AR 15 g/mL 997 {38 4ft s firer (@5 SaEa o oF fiffe a7 29
frTeE 99T F0 @ (97 TF, e FEE IFeEd (@14 AT 33 o1)?

A. 10 g/mL B. 7.5 g/mL C. 20 g/mL D. 5 g/mL
20. Which of the following gas when dissolved in water will produce two different acids in equal
ratio?

[ (T ST ST G @® 2 NN S*Te b fox MG G357 FH? /

D! NO, v

A. SO, B. CO, C. P,0s

7-21a | 7-21b , 7-21c 2,2, 2)\.
21. If 4 T 35 T 3¢ —Q,thenthevalueof (E+E+E)IS_

7-21a 7-21b 7-21c 2 2 2
2 TR PR o, (B4 24 ) am A - N

- | X
A 18 B.3 9o D.27

22. The value of X in the figure given below is —
fowa form X-aq A 2T - A

B c D \/
D. 150°

A. 80° B. 90° @.120°

23. Suppose [a b] denotes the average of a and b, and (a b ¢) denotes the average of a,b and c.
Then, the value of ((230) [12] 1) is -

TAFD, a 8 b AA TG HH@ [a b] TAIR a,b 8 ¢ AT TG NP (abc)wEn
e a1 %e| STRE (23 0) [12] 1) 98 719 =T

25 23
Ay L4
C. D. 5

sciencemaster.in
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24.

25.

26.

27.

28.

29.

A yeranda of width 2.25 m is constructed all along outside a rectangular room which is 5.5 m

long and 4 m wide. The area of the veranda is —

5.5 m T 8 4 m 577 RAPE 1S AXSTH T TR SR 2.25 m 5G] T Tof P

7| ST AT (Fa%eT T —
P Vs

A. 63 m? B 52 m? C.72 m? D. 65 m?

If a number is divided by 56, then the remainder is 29. If the same number is divided by 8,
then the remainder is —

T8 AT 56 TTAT STT FAET 29 SITCTT A | P TRANF § T SIS FICET, SHTT A& —

’

A3 7( B.4 C.7 D.5
Q

Factorization of x* + 64 is — \'r
x* + 64 AT TYAWSE fACHT T - @@ \

A. (x? + 8)? /
B. (x* +8)(x*-18) ~
Co (x2—4x+8)(x*+4x+8) _—

D.  (x2—4x—8)(x*—4x+8) L\ 5

If x2 — px + 30 = (x — 5)(x — @), then the values of a and p will be - A

x2—px+30=(x-5)(x—a)TF, a 8 pAFIAFTII- % 6
M 5
A . a=5p=11 Efa=17,p=13 Ca=6p=11 D.a=-6,p=-11

In a school, the students are made to sit to watch a programme. If the teachers make rows of
students of 16 each, there will be 12 students left. If they make rows of 24 each, then there
will be 20 students left. If they make rows of 25 each, there will be 21 students left and if they
make rows of 30 each, there will be 26 students left. Then the minimum number of students

present in the school is —

938 T Preriee 3375 SR (7te FIE 2| Frsar I 16
YofE T, OTRET 12 S ¥t Sra1E A | I OTH 24 I I T I e, ST
20 & FrT STAFTE N A OIAT 25 I F@ T NN F&, $F 21 S gt
SafiE NEE 99 % 1T 30 O FE T N FE, O 26 S gt Jafy

| A SHfre PR e A0 3 -

A. 1216 B. 1784 c'1196 D. 2396

Working 5 hours a day, A can complete a work in 8 days and working 6 hours a day, B can
complete the same work in 10 days. Working 8 hours a day, they can jointly complete the

work in —

By 5 TR IS FE A 7B 716 8 i 93 AT 6 BT F1S FF B 952 I 10 ey 1%

TS | o 8 T5T FTS F(F ©TH1 (VST FTO0 T7f FH® M -

A 3days Q@YY B.adays@fm  C.5days (5w D. 6 days (6 fute)
sciencemadster.in




30.

31.

32.

33.

34.

3s.

36.

If 3x+1=2y-1=52+3=7w+1 =15, the value of 6x — 3y + 5z — 8w is —
3x+1=2y—-1=5z2+3=7w+1=15 5[51'(6x—3y+52—8w)-3§m"fi?1-\/

Ao B.1 C.2 D.3

When water becomes ice, its volume increases by 10%. When the same amount of ice melts
into water its volume decreases by a%. Then the value of ais —

S I AHTS T ATSH 10% NG| SRR A% SATH 5@ & T a% TNTe B0 |

O a IFHA - / )
v
&

A0 B.9 D. 9=
11
_ a? b2 .

If ab + bc + ca = 0, then the value of e Tt 18 equal to —

b+bc+ca=0 al_, bt L e
a ¢+ca=0 3, aZ-bc M b%2-ca * c2-ab ATAART -

. 1,1, 1
A.0 B.1 Cc. -1 D.-[z+1+2]

The population of a village is 7986. During the last three years, the population increased at
the rate 10% per year. The population before 3 years was —

(G ST TR 7986 | TS oo IR 477 ToTswe ] A = 10% A e | S1e oot
EREEC (CPICEREE R Sy g X0
\

A 5000 B. 5500 c. 6000 D. 6600

The measure of each interior angle of a regular polygon is 156°. Then the number of sides of
the polygon is —

23T TN IIQER M A FNIT T 156° | ITGSOA 1T T2 T \/ /

A8 B0 B C.12 D 1s

B, 4+—10cm —»

Kcm -
A l /-J'U'.-,&m&‘,
4 6m —bo/

A. 80 cm? B. 64 cm? C. 60 cm? 18, 48 cm?

The area of the shaded region BEDC in the parallelogram
ABCD (as shown in the figure) is -

ABCD YWBfA@F S@sfe BEDC fbfFe avwm wame (Jws
fow) z1-

How would you explain the presence of high content of haemoglobin in the RBC and a large
number of mitochondria in the muscle cells of the birds?

N (MRS 7F Ffem may 47 @ afmer Romenfs s o (@Em oy 47 @
AT ARGAGAT FA? - Gy Fena a2 o amm e

A.  High up in the air where birds fly, the temperature is considerably low.
(ST SAER ST (T TAAT 8T, CTATH STTATAT AHFOR 3 )

sciencemaster.in
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37.

38.

39.

40,

B.‘ Birds need a huge quantity of energy for flight.
(TR S TTR 3s G =fEaer =1fe AT

C.  Body temperature of the birds is higher than other animals.

(TR TR ST ST A Qe ()

D.  Birds need excess oxygen in their air sacs for flight.

By which feature would you identify the stone cells in the seed coat as dead?

Whﬁ@rmtﬁwmw@ﬁwwaﬁﬁ;ﬁm@?

Cell wall is thin ( (FTTNOIF *Tee)

A.
B. They look like stick, thread or fibre (AT (T30S 13, SJre1 A1 ISH SACTH ACST)
C. Absence of Protoplasm (CSTGTETS AT A1)
D. Very small in size (SN I Q)]
Which of the following statements is incorrect regarding bile?
fire E® e @ [A9fefe T2
A. It helps in emulsification of fat
(aft s IEHE T 1T FE)
B. It breaks down the fat into very small micelles
(aft 5@ (eTT J (=16 MO AHTS FH)
C. Bile inactivates lipases
(Frs TRETE AT FF)

D®  The bile released into the duodenum does not contain any enzyme

(Feafeae fovsfe e (F1 TSTTee AT 1)

Which substance stored in the camel’s hump helps the camel on a long journey through the
desert?

A.  Water (5¥)
4/  Protein ((To) o NP
. / N -
C,  Fat (GrRTTY) Wi
D. Carbohydrates (T4

Since some days your classmate has been suffering from weakness. Her skin and nails have
become pale. She is supposed to see the doctor. In the meantime, what would you suggest to

cat to her benefit?

(STIE FIOE A% I, f5fod N GETOE IRl O SITST AT Y BIFICT 3T (MR STF
STFTA (RATATA FT| 7 S, QN BT SRR Siefy F (418 IT?

sciencemaster.in
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paneer, cottage cheese (chhana) (siferg, =)

butter, clarified butter (ghee) (T3, fH)r \/ @
_
i

green vegetables, pulses (IS *1< — Naf3, T1)
fruits (%)

41. Which statements about penicillin are correct?

(s RA@ @ m @ w3 e
L It was discovered by Alexander Flemirig.
(TS Ffn afb SfTETT F=w)
II. It was discovered from Penicillium rubens.
(TSR FEas (e aft A ige )
IIL. It was discovered in 1928.
(5o NI aft wfRge =)
Iv. It also kills viruses.
- (aft SRINES (W &)
A. I Iand I II 832 1)
B. I and IT only (BY I AR 1)
C. Iand IV only (B{IARIV) "
D  Iland Il only (3§11 3% III)

42. Which of the following endocrine glands is located in the brain?

faafifie @ wa: 54T Af% 0 IfEE T I ?
A.  Thymus (¥13919)
B. Pituitary (PRRoEIS
C.  Thyroid (ARTIS)
D.  Parathyroid (TARRAET)

43. Why can't freshwater animals live long in sea water?

R ST TTATTHTAT SIAAT (o A ST (I (G YIS T 12

A®
B.
C.
D.

Due to change in nitrogen level (TRUFTSTAS AT LIEECICERIEQ))
Due to change in temperature (ST STRIGTTR FT)
Due to change in light intensity (ST UE ORI EEIVCERIEIC))

Due to Osmotic problem (JFETFT NS ST FIAT)

sciencemaster.in
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44

45.

46.

On a visit to a manure production unit you learned that the manure they are producing is rich
in three elements. Two of them are Nitrogen and Potassium. Which element must be the third
one?

T 996 T W IRV O THE, (@ T T (ofF 1T ©f feaie G SIEE
@] BTF A& G5 G SAME ARGIEW AT TORAN T, @iy (T SHWEM Ao
@FHG?

A.  Zinc (5337w

B. Molybdenum(ﬂf‘ﬁ?lﬁﬁw)

c.t Phosphorus (F5%4T%)

D.  Nickel (f@@)

An excess amount of carbon dioxide (CO,) in the atmosphere is harmful. But, a small amount
of carbon dioxide in the atmosphere is actually very necessary. Can you tell why?

IS 4T @ AT FEF TRIHIRT (CO,) VT SFoFEF| 56, IT0T0T I AT
A SRAFRT VTFT AN 432 TESNT| IS A @

A. CO; breaks up and gives us O,
(CO, (ST ST W= 0, (57)

B. CO; keeps the atmosphere warm enough for us to live.

(CO, IMTE (36 VTFTA Te] IFRIAE T T M)

C. CO, is necessary for the plants to respire
(TR HTH- TR F) CO, THSALT) 1

D. COj; creates a protective layer in the upper layers of the atmosphere.

(CO, INITH THRA IR 2316 ASAITHAS 2 (o7 77)

Which of the following endocrine glands is related to the syndrome in the picture (the glands
are shown in circles)?

fea =ffBTe (TATET (@SR A (1 QT 9f36a 7= F@w (%58 Jug 7@
(T TR ) ?

12




47, X o
Though badly damaged through human activities in the past, effort to restore the health of the

A N has A Snecaee : : :
coral reefy has been successful to some extent. Why is this action so necessary?

ST A AR S T AEROR TR SR TR, @ s

R T [HFWTT S SERT RAGHT TORS ST TR 9% TS 98 S (oo

A.® the coral reefS maintain marine biodiversity.

(S it e StataRa sy e !

B.  the coral reefs maintain ocean water acidity.

(T M T T TS I IW)

9

the coral reefs supply minerals to the ocean water,

(ST TR TR T 4TS N F)
D.  the coral reefs clean up floating wastes in the ocean water.
(ST ST ST ST ST T TR 3
48. In what way do you think is the shape of the muscle tissue useful in performing its function?

OTR TR WS TTH 1S TR o ¥ S S e g ww s e

A.  better accommodation along bones
(TMEN SMH JRS STATETI (T NTHE)

B.  quick distribution of necessary oxygen and food inside cells
(FRT ST AT AT (TR W O SR )

C. ease of blood circulation in the muscle
(TS STTETE AFTEIH FE)

D ease of contraction and relaxation.

(TS SREFTEH AR THAT FAQ)

49. Which food chain is the correct one?

(TR TN Sow?
A*  Phytoplankton-Zooplankton-Small fish-Large fish-Human
(FRETENSEH-SRTSEA-(TE WE-TF J1R-HI)

B.  Zooplankton-Phytoplankton-Small fish-Large fish-Human

(B -FROWITSEA-(T6 FIR-3$ /A1)
C.  Phytoplankton -Small fish-Large fish- Zooplankton -Human
(SROTATSEH (T AE-TG AE-SFTEEA -F17)
D.  Zooplankton -Small fish-Large fish-Phytoplankton -Human
(RETTETH (6 TTR-IS NS-FROTETEOA -FA7)

sciencéemaster.in
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50. Which of the following statements is correct about farming paddy and fish together?

AFHOT NS 3 NTR B1F F77 & fAa (@ SfFh nfds

A.

D®

Paddy releases certain chemical substances which promote the growth of fishes

(41 RTTY R At s favsfs s 1 e 3 s 3@)

Paddy rhizosphere contains certain microbes which serve as fish food

(N ARG ATE e g st o 1 e 11w Rona 15 3@)

Fish excreta serve as organic manure for the paddy fields

(VRS NI NTHAEHSA (63 T ROTE 318 37)

Fish increases acidity of water, which promotes paddy growth

(TR ST T TSI, I NI Jfonte Sy a09)

sciencemaster.in
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